Potential and Kinetic

Energy

Potential energy: is energy that is stored in an object that depends on height and mass.



Example:

Which mass has more potential energy?

A: same mass but a higher height.

You can calculate the potential energy in an object by using:

P.E. (Joules) = mass x gravity x height

Mass in Kilograms

Gravity = 9.8 m/s2
Height in meters

Example: If an object has a mass of 52 Kg and a height of 10 m what is its P.E.?

52 Kg x 9.8 x 10m = 5,096 Joules

Kinetic energy: is the energy of all things that are in motion and it depends on the object’s mass and velocity.

Example:

Which object has more Kinetic energy?

Object B: Same velocity but a larger mass.

Kinetic energy can be calculated by using the following equation:

K.E. = ½ m x v2

M = mass in Kg

V = velocity in m/s

Example: if a car with a mass of 1500 Kg was traveling with a velocity of 25 m/s, what is its K.E.?

K.E. = (.5) x 1500 Kg X 252 m/s 


    = 750 x 25 x 25 = 46,8750 Joules


**The units for kinetic and potential energy are both Joules (J).

